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EFRAS R H S
2018 &£ 10 B
Y& AE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FFEEH — B/NERPEE(BFREEREN RS EE)
fotr 2.277 0.003 - 0.374 0.012 &
S TR 1.512 0.000 - 0.552 0.094 =
/L4, (HCD) 4.545 0.002 - 0.274 0.167 =
mIbE (HF) 0.306 0.001 - 0.093 0.048 s
—&/Ehi (SO2) 15.147 0.058 - 4.396 1.978 =
—&Ei% (CO) 7.578 0.018 - 0.141 0.067 =
HEEY (NOx)
PL=21E%E (NO2) 30.303 1.088 - 6.454 2.618 =
i E
(b) [FHEEEH — HYE (HREHRENLAGREE)
(EGA 0.756 0.005 - 0.043 0.013 &
A P 0.756 0.024 - 0.165 0.094 =
/L4, (HCD) 0.756 0.127 - 0.202 0.166 =
mIbE (HF) 0.072 0.045 - 0.051 0.048 =
— &b (SO2) 3.789 1.736 - 2.372 1.989 =
—&Ei% (CO) 3.789 0.056 - 0.082 0.067 =
HEY (NOx)
LI &/EE, (NOY) 15.147 2.082 - 2.950 2.614 =
EHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.001 =
R A 0.0378 <0.0047 &
IR R g ) 7.575 x 10°° <5.144 x 1010 &
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2018 &£ 10 B
Y& AF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.743 0.008 &
S TR 1.512 0.000 - 0.683 0.112 =
/L4, (HCD) 4.545 0.029 - 0.241 0.138 =
mIbE (HF) 0.306 0.000 - 0.079 0.046 s
—&/Ehi (SO2) 15.147 0.002 - 3.911 2.005 =
—&Ei% (CO) 7.578 0.001 - 0.079 0.025 =
HEEY (NOx)
PL=21E%E (NO2) 30.303 0.309 - 6.410 1.347 =
i E
(b) [FHEEEH — HYE (HREHRENLAGREE)
(EGA 0.756 0.002 - 0.136 0.011 &
A P 0.756 0.051 - 0.222 0.112 =
/b= (HCI) 0.756 0.070 - 0.185 0.138 s
mIbE (HF) 0.072 0.040 - 0.053 0.046 =
— &b (SO2) 3.789 1.353 - 2.557 2.007 =
—&Ei% (CO) 3.789 0.011 - 0.049 0.026 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.703 - 2.735 1.360 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0055 &
IR R g ) 7.575 x 107 <6.303 x 1020 &
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2018 &£ 10 B
Y& BE
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.060 0.004 &
S TR 1.512 0.006 - 0.848 0.080 =
/L4, (HCD) 4.545 0.015 - 0.249 0.102 =
mIbE (HF) 0.306 0.004 - 0.083 0.039 s
—&/Ehi (SO2) 15.147 0.143 - 4.977 1.860 =
—&Ei% (CO) 7.578 0.000 - 0.142 0.042 =
HEEY (NOx)
PL=21E%E (NO2) 30.303 0.644 - 5.679 1.851 =
i E
(b) [FHEEEH — HYE (HREHRENLAGREE)
(EGA 0.756 0.002 - 0.015 0.004 &
A P 0.756 0.023-0.173 0.080 =
/b= (HCI) 0.756 0.058 - 0.195 0.101 s
mIbE (HF) 0.072 0.032 - 0.049 0.039 s
“&4biR (SO2) 3.789 1.385 - 2.266 1.863 =
—&Ei% (CO) 3.789 0.012 - 0.091 0.042 =
HEY (NOx)
LIS [EE (NOy) 15.147 1.013 - 3.152 1.856 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0004 =
i fe SEHVAR 0.003789 <0.0015 =
E4EEE" 0.0378 <0.0068 &
IR R g ) 7.575 x 10°° <7.646 x 1010 =
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2018 &£ 10 B
&% BF
S HER PR ED R EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.273 0.005 &
S TR 1.512 0.001 - 0.759 0.089 =
/L4, (HCD) 4.545 0.010 - 0.105 0.073 =
mIbE (HF) 0.306 0.001 - 0.059 0.030 s
—&/Ehi (SO2) 15.147 0.039 - 5.383 1.785 =
—&Ei% (CO) 7.578 0.012 - 0.216 0.077 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.568 - 6.973 1.520 =
EHE
(b) [FHEEEH — HYE (HREHRENLAGREE)
(EGA 0.756 0.003 - 0.027 0.005 &
A P 0.756 0.026 - 0.181 0.092 =
/b= (HCI) 0.756 0.045 - 0.088 0.073 s
mIbE (HF) 0.072 0.022 - 0.036 0.030 s
— &b (SO2) 3.789 1.240 - 2.077 1.794 =
—&Ei% (CO) 3.789 0.052 - 0.123 0.078 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.975 - 2.199 1.536 =
EHE
S8 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0011 =
E4EEE" 0.0378 <0.0048 &
IR R g ) 7.575 x 10°° <5.257 x 1010 &
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